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Testy

① limits of sequences pg①
② Adding up series : Geometric & tek
③ tests : divergence test scoria

integral test

comparison / limit comparison test

alternating series
test

ratio test

P - series
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To that start at the

IhxFindtheangkbetwem°o¥f*.
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in =L 2
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- 1,27 -

Join = I ( from above )
,
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How could pg①
ii. in = hilhlcostot = O ?

Either J=8 or
in = I or c¥=O .

⑦  = E ( 904

-

DI.

Two Ionizervectors I and I
'

to
'

and i' to
'

are called perpendicular or

orthogonal if the angle
between

them is o -

- E ( ie 900 )

-

theorem Two nonzero
vectors I

and in are perpendicular
if

and only if J .
Th = O



Ex:
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to,×££¥
W→ =L 2,1 , 07

y

J . = ( 1112 ) t C - 2111 ) t C 0110 ) = O

So
,

I and in are perpendicular .

That is f = Iz ( 90 )
.



Projections pg①
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£
respectively, ie

the vectors have the

same
initial points

If S is the foot of the projection

from R to the line containing
PI

,

then the vector with representation

PT is called the

vectorprojectionofbontoiiand is denoted

•
,

by projects
'

)p÷#.÷#÷


